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Electrician A's Salary as a Function
of Weekly Hours Worked
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a) Which line is steeper? That is, which function is changing (increasing) faster?

‘F

b) Are the two Slopeé positive or negative?
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ﬂ Verity your answers by calculating the slope of each line using the formula rise over run.
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During the entire observation period, over which time interval does electrician A’s salary

Eo) &0 )Ly

mcrease?’

b) During the entire domain, what is the increasing interval of functiong? ( o) 8 o) hr
¢) During the entire observation period.dor how !ﬂn@does electrician A’s salary increase? S0
d) During the entire domain, €r how lonp) does Tunction g merease? o+ Dok v

_
&

Over which time interval 1s electrician A’s salary negative?
What 1s the negative interval of function g? §

When does electrician A’s salary decrease?
What 1s the decreasing interval of function g?
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WVhat 1s the maximum salary of electrician A?

What is the maximum of functiong? § ( oD
What 1s the range of electrician A’s salary?

(S‘OOJ #

m) What is the domain of function f7 Lo, 80] hr
n) What 1s the domain of function g?

) _ mawmotfunctiong: o = 8 0) kv~
o) What is Electrician A’s initial salary? ¥uoo
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What 1s the range of function g?
V1
!
1
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p) What 1s the initial value of function g?
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Isabelle's Salary Since the Start of the Year Harry's Salary Since the Start of the Year
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Isabelle's Salary Since the Start of the Year

¥y A

b) What 1s the mcreasing mnterval of function g?
¢) For how many days does Isabelle’s salary mcrease?

d) For how long does function g inerease? L o o o
¢) What is Isabelle’s minimum salary? Bzog ( ©\
. f) What 1s the minimum value of functiong? #7260 O
g) Over what time interval does Isabelle’s salary decrease?
h) What 1s the decreasing interval of function g7 &
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1) What is the range of Isabelle’s salary? (28w, 1000 ] S Harry's Salary Since the Start of the Year
. 7)  What 1s the range of function g? I i
k) What is the domain of function f? C 200, %00] ¢ 1000 -
1) What is the domain of function g? Co ) 909 ] d- ‘0 r‘é 800 1
m) What is Isabelle’s initial salary? /\'D CO ;D 0_3 O{C: 4 60+
n) What is the y-intercept of function g? -
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A Regular Teacher's Yearly Starting Salary
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A Substitute Teacher's Yearly Salary
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P9 3

a) During the entire observation period. over which time interval does a regular teacher’s

salary merease? &

b) During the entire domain, what is the mecreasing interval of function g? C o, 366 E d e
¢) During the entire observation period. for how long is a regular teacher’s salary positive? £ o+ 365 d

d) During the entire domain. for how long is function g positive? £ o r
¢) When does a regular teacher’s salary decrease?

f) What 1s the decreasing interval of function g7 &

g) Over which time interval is a regular teacher’s salary negative? &

h) What 1s the negative interval of function g?

i) What is the maximum salary of a regular teacher? < 7. Yo #
7)  What 1s the maximum of funection g? 50 Ik 2
k) What 1s the range of a regular teacher’s salary? )

m) What 1s the domain of function f7 (o

n) What is the domain of function g? C v ;f ? )

0) What 1s function f°s y-intercept? ) C o Qy
Yo

1
i
1
1) "Wilat 1s the range of function g? Co J <o {_ %- Y ?_‘3
i
1
p) What 1s the initial value of function g?
Q)
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Account Balance
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@) Which line is steeper? That is, which function is changing (decreasing) faster? -? ) ‘Af A )? P 7 f p V L? 7
.fB) Are the two slopes positive or negative? ( — M S

¢ Verify your answers by calculating the slope of each line using the formula rise over run. N o
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Over what time interval does Ms. Short save money? 8= 60
What 1s the mereasing interval of function g? & %‘5’
What 1s Ms. Short’s minimum account balance? O gfg -
What 1s the minimum value of function g? — Yo #- %E 20
Over what time interval does Ms. Short’s account balance decrease? E o, o j wond RE= :
What 1s the decreasing interval of functiong? [ ©, [ & E

Over what time interval 1s Ms. Short’s account bﬂlance negative? 20
What is the negative interval of function g? [ JIS [ praonnt N 40

For how long 1s Ms. Short’s account balance negative? o+ o ot (,

1) For how long is function g negative? =(x,-x,1 =
What 1s the r f Ms. Short t bal
1at is the range of Ms. Short’s accoun alance? [O} 6 Oj [\/v\ ~y \/‘-’\“)(\7) )
Vhat is the range of function g? &(3 0,~ Lfoi _
m) What 1s the domain of function f? '4-) W S J-4o , b O-) g
n) What 1s the domain of function g*.’ o o C s WIS E g
o) What 1s Ms. Short’s mitial account ba anbe? £ O & ;f g
p) What is the y-intercept of function g? ¢ 2=
What are tl  function f? ©
1at are the zeros of function \-' Vv s
r) What are the x-intercepts of function g? O o »\,‘J"N

At what moment does Ms. Short lose all her money? @ <+ l<e Lf*t\ l/u\_b’wd’,’\
At what moment does Mr. Corneli go into debt?
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Rock A's Trajectory Whipped into the Water
y

Height Above Sea Level (m)
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Rock B's Trajectory Whipped into the Water
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1)
m)
n)
o)
P)
Q)
r)
s)
t)
u)
v)

During the entire observation period. over which time interval does rock A’s altitude
merease”’

During the entire domain, what is the increasing interval of function g?
During the entire observation period. for how long 1s rock A’s altitude positive?
During the entire domain, for how long is function g positive?

When does rock A’s height decrease?

What 15 the decreasing interval of function g7

Owver which time interval 1s rock A’s height negative?

What 1s the negative interval of function g?

During the entire observation period. for how long is rock A underwater?
During the entire domain, for how long is function g negative?

What 1s rock A’s maximum altitude?

What 1s the maximum of function g?

What 1s the range of rock A’s height?

What 1s the range of function g?

What 1s the domain of function f7

What 15 the domain of function g?

What 1s rock A’s mnitial height?

What 1s the initial value of function g7

What are the x-intercepts of function f7

What are the zeros of function g?

At what moment does rock A go into the water?

At what moment does rock B reach sea level?

Rock A's Trajectory Whipped into the Water
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Distance (m)

Distance Between Ms. Short and Yufan
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Conside following graph. Let’s determine it's slope.
L r\n

b )

Can we come up with a formula for calculating the slope of a line?
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1.1.1 Practice

Determine the slope of the following linear function. First find it graphically, then use the formula
for the slope we just discovered! e
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1.2 Example

Determine the slope of the li
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Ns e

goraps TroveriEy

passing through the following two points, (=1, —3) and (2,4)

QX

e e —— e~ ” -

-~

Pr 6,9 X v
o-g"'l
u’?. _\4/ !
xX, — ¢, Jlo
I O[/\

Lf *(—3) F(@C+IC ) o\‘f\o}\

2 »(—l)

L{ 'Y} Ffmc Q/f‘{c-
=

2+ | é [7.7 JJ’“H"y |
7 éﬁ_-———\fa'[( tj \(/\J,(-

2 re



1.2.1 Practice

(a) Determine the slope of the line passing through the following two points: (—4,5) and (1, —2)
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(b) Determine the slope of the folloding linear function:
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M_S‘/'\_2 Toable of Values

1.3 Example: Finding the Slope of a Line Through Two Points Presented in a Table

Determine the slope of the line passing through the following points:

x | f(x)
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1.3.1 Practice

Determine the slope of the line passing through the following points:

. 40 10 | -120
20 18 | -130
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1.4 Example: Finding the Slope of a Line — Horizontal Table

Deternune the slo

X
f(x)

[ 4.
o a = -5

c ¥ e T/‘C‘ée‘lt'

of the line passing through the following points:
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1.4.1 Practice

Determine the slope of the line passing through the following points:

-2 3
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